1. A1 #AHA
1)

CHed x@~@ 25 s =I0{0F otH, 7|8 2H(1~67]) AI/E7}

® ¢1=2-0|C|of 20KPD/7|AH/OFLt2M-2| ZE]) X 0|37 | 5|Yste=
M AU 0|4 Chstm AfHY U Zy
@ Ar2|Hl2{CH & AH (ST &)
2) MRz
@® =L 4~6'FA| CHE H oty 57| O| & 2 (O H) A2 = = 113 O[LHQI AF
(ZIZ87] o| & =210 otstod AsHd, gkl 2R/ |~/ A/ Rt/ 5 2F 7
@84 Z(HH)EH 7|2 3.0/4.5014
2. MAE7|Zk ~ 2025.07.21 (%) 09:00
3. MHHH: 2 2sa T ZH 0|2 ZSAIAFE L 1|0|H Z (https://naver.me/5u9PJinO)
4, Aol R: (212-0/C]01)200%/ (013 A) 100 R
5. 2| 4 &
1) stz (et EZH[) 1009H
@ 12| [R / Ef Aotz S50 7t
AR WE D2 90%0|4 =4 0|4l ZL02t &
2) Agmg oz
@® Z=3!: 0|C[0]/0| 3 A 4t & 20 wx U AU E S 38 dHo= 1d
- A 2912 PD(CHR, 05,2 E 2 5), 714, Ot Al L] Zref of| A
- O|ZA|: 2t=H/IT/QS A5 & YA Z2O0LE LIE FIHel oz A
6. LA
_ ZF5h 2078 _
NP i “:014) az2s S
> > > _ >
-7/21 7/24(2) 171 8/5(1 Sl 8/25(%) o1
X 9l AAUHS U AHS LYEAHO] ofsh HZ 4 00, HEUHE 23 Aol
=Y At2Hi L &AL B SHAF 2L 18,




— —]
Ll
11
— —
=
ol
<
=
oll
T

1

frill — Hl
_A_.o — il
k= | Ko L
ey Kto X =
w = o | .| %%
. o T I =T = =
T o T | @ | Ko | o2 | g
uE 80 51 B0 g Ko | x| = o | |4
< Klo i KIO Klo RO H ol t > o7
2 | goror (o | N[ K|S w |
Klo 1 %0 I S H D S | 5
Frur | RO W | X | g | o |2
ol KY K|o oI
< 10 ulo &0 = e o
1 nr Klo 1o
: blEl R
KO Kk Kir h
fir N z
) °
. = Ko RO || R R g | d
K fo = R A N T B
=) 430 S | kKW= 5 | K
L KO 10l ) ) wl bt iof
54 oF ._OL H_u_
I

N
VN

M F 1 Ol A=

al 7
oz

X 22l ol S T Af




	슬라이드 1
	슬라이드 2

